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Question Number : 1 Question Id : 206205905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The World Wide Web is composed of:

Options:
; = 1page.

> % only 100 web pages.
- » only 500 web pages.

4  nillions of web pages.

Question Number : 1 Question Id : 206205905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 206205906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
i3 & collection of newsgroups where the vsers can post messages and these posted messages are distributed via
Usenet servers.
Options:
1 ®% News

5 % Gateways
=z « Netnews

4 % News group

Question Number : 2 Question Id : 206205906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 206205907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS Office 2010, which of the following menu can be used to change the background in MS Power Point?
Options:
,  Design

~ % Insert
= % Animation

4 % Slide Show

Question Number : 3 Question Id : 206205907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 206205908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does CD-ROM refer to?



Options:
, » Compactable Read Only Memory.

- % Compact Data Read Only Memory.

- » Compactable Disk Read Only Memory.

4  Compact Disk Read Only Memory.

Question Number : 4 Question Id : 206205908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 206205909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a dedicated computer?

Options:
; w A computer which is used by one person only.

> A computer which is assigned one and only one task.

5 % A computer which uses one kind of software.

4 # & computer which is meant for application software.

Question Number : 5 Question Id : 206205909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 206205910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A range of adjacent cells in MS Excel can be selected by holding down the key while we press the arrow keys
to extend the selection
Options:
1 ® Alt

> % Tab
= % Enter

4 v Shift

Question Number : 6 Question Id : 206205910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o ® Tab
z % Enter

4« Shift

Question Number : 7 Question Id : 206205911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an impact printer?

Options:



, % Daisy-wheel

> % Dot-matrix printer
- % Chain printer

4 " Laser

Question Number : 7 Question Id : 206205911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 206205912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an input cum output device through which data enters or leaves a computer system?

Options:
, % Keyboard

> « Terminal
= % Printer

4 % Plotter

Question Number : 8 Question Id : 206205912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 206205913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The top meost bar in any application window is the . which displays the name of the docwument or
application,

Options:

1 #% Menu bar

- % Toolbar
- % Status bar

4 « Title bar

Question Number : 9 Question Id : 206205913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 10 Question Id : 206205914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What command is used to copy a selection of text?
Options:

1 & Move

5 of Copy



- » Duplicate

4 % Cut

Question Number : 10 Question Id : 206205914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 206205915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The formulaic equation '=MOD(-3.2) entered in a cell displays:

Options:
1 ® -1

2 1
= % -1.5

4 % 0

Question Number : 11 Question Id : 206205915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 % -1

> o 1

z ® -15



Question Number : 12 Question Id : 206205916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On which OSI layer does the media access control sub-layer reside?

Options:
| % Transport

- u Physical

5 % Network

4 « Data link

Question Number : 12 Question Id : 206205916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 206205917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
End-to-end connection is established by which of the following protocols?

Options:
1 ® IP
5> ® UDP

3 « TCP

4 B FIP

Question Number : 13 Question Id : 206205917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® ”::I|
- % UDP
2 « TCP

, % FTP

Question Number : 14 Question Id : 206205918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A Website is a collection of which of the following?

Options:
. % HIML

> % Graphic files

= % Audio and video files

4 « Web pages

Question Number : 14 Question Id : 206205918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 206205919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The hexadecimal number system has a base of

Options:
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Question Number : 15 Question Id : 206205919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® 2
- ® 4
o ® 8

4 v 16

Question Number : 16 Question Id : 206205920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a URL (Uniform Resource Locator)?

Options:

, « Anaddress containing computer name, directory name and name of the web page.

-~ % A program showing information regarding the world.

5 % A browser for running different operating systems.

4 % Atype of website.

Question Number : 16 Question Id : 206205920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 206205921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following programs are as permanent as hardware and stored in non-flashable memory?
Options:

1 % R Hardware

o

> # Software
= % ROM ware

4 « Firmware

Question Number : 17 Question Id : 206205921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

frafafea & ¥ Fia o1 wene gEdmy & 9ifa Tl @ar § 3R A7 wekgs AEd
¥ gogg & Srar 272
Options:

. % R EEIW

Question Number : 18 Question Id : 206205922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

When a picture is inserted in a document, the becomes available.
Options:
, w Design Picture tab

> % Drawing tools tab



5  Picture tools/styles tab

, w Picture design tab

Question Number : 18 Question Id : 206205922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 206205923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What are desktop icons?

Options:
, « Small graphical images

> w Objects

= % Charts

4 % Pixels present on a desktop

Question Number : 19 Question Id : 206205923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 206205924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS Excel, the returns the future value of an investment or a loan based on a fixed interest rate

and fixed payment.

Options:
1 % PV function

> % NPV function
= % Rate function

4 « FV function

Question Number : 20 Question Id : 206205924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 21 Question Id : 206205925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Online communication through text messaging by using internet is called

Options:

, « Cchatting

> % e-mailing



- » Video conferencing

4 w e-banking

Question Number : 21 Question Id : 206205925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 206205926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

refers to the act of posting bulk messages to several users simultaneously by a known or unknown source,
Options:
, w Hacking

» » Cracking
5  Spamming

4 » Phishing

Question Number : 22 Question Id : 206205926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 206205927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A collection of related fields is called a

Options:
1 « record

> # file
%z % database

4 = folder

Question Number : 23 Question Id : 206205927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 206205928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an output device?

Options:
1 % Printer
> % Monitor

-  Keyboard

4 # Modem



Question Number : 24 Question Id : 206205928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 206205929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following file extensions indicate graphics files?

Options:
i % BMP and DOC

®

JPEG and TXT

[
®

TXT and STK

a
®

4 « BMP and GIF

Question Number : 25 Question Id : 206205929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Trafef@a § 9 #i9 @ BEd taaed Mthed BISdar & g2ATar 272

Options:
. » BMP 3T DOC
. » JPEG T TXT

- » TXT 3k STK

. v BMP 3T GIF

Question Number : 26 Question Id : 206205930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is an example of Toggle case?

Options:
1 ®# TOGLE CASE

> u toggle case

- « tOGGLE cASE

4 % None of the other options

Question Number : 26 Question Id : 206205930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % TOGLE CASE

. » toggle case
z « tOGGLE cASE
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Question Number : 27 Question Id : 206205931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The acronym MAN stands for:

Options:
1 metropolitan area network.

- % mmaster area network.

5 % mmetropolitan art network.

4 % hone of the other options.

Question Number : 27 Question Id : 206205931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 206205932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DVD stands for:
Options:

, « digital versatile disk

- % diagonal versatile disk

- » digital volume disk

4 » digital visual disk

Question Number : 28 Question Id : 206205932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 29 Question Id : 206205933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft PowerPoint 2003, how many steps are there between Start and Finish in Auto Content Wizard?

Options:



1.4 3

Question Number : 29 Question Id : 206205933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 206205934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does SQL stand for?

Options:
, w Structured question list

-~ % Sophisticated question list

5 % Small query language

4  Structured query language

Question Number : 30 Question Id : 206205934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SQL T quT & gl

Options:

|« TEFEs FaIA forEe



. » TihEcHes Fae e
, v TeFIS A deae

Question Number : 31 Question Id : 206205935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The octal equivalent of the binary number (101001100), is

Options:
% (515)

. » (514)g
o = (504)g

4w (415)g

Question Number : 31 Question Id : 206205935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

= (9158

, o (514)3

- = (504)s

4 » (4139)8

Question Number : 32 Question Id : 206205936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“Basic” programming language is used for
Options:

, w for commercial purposes.

> % for scientific calculation.



5 » for developing a web page.

4  asasimple language for beginners.

Question Number : 32 Question Id : 206205936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 206205937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term used to refer to tangible, physical computer equipment that can be seen and touched is

Options:
1 « hardware

> % software
5 % Storage

4 % input/output

Question Number : 33 Question Id : 206205937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 206205938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LAN stand for;
Options:

1 % local area nodes.

- u large area network.
5 % large area nodes.

4 « local area network.

Question Number : 34 Question Id : 206205938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 35 Question Id : 206205939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The side bar in a window or word processor that has an arrow on both ends and a box in the middle that is used by the

manse 1o move up and down a page 15 called
Options:
1 « Scroll bar

> % Roll bar

5 % Pagebar

4 % Boxbar



Question Number : 35 Question Id : 206205939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 206205940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which bar is used to open and close a file in MS Excel?
Options:

, w» Formatting

> #% Standard
3 « Title

, » Formatting or title

Question Number : 36 Question Id : 206205940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 206205941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To find a saved document in the computer's memory and bring it up on the screen to view is

Options:
1 # lIeverse

- % rerun
3 o refrieve

4 % refurn

Question Number : 37 Question Id : 206205941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 38 Question Id : 206205942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is displayed when =MOD(-6.4) is entered in a cell?
Options:

1 ® -2

Question Number : 38 Question Id : 206205942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 % -2

Question Number : 39 Question Id : 206205943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the primary use of a joystick?
Options:

; = Controlling sound

5  Computer gaming
5 » Entering text

4 ® Drawing picture

Question Number : 39 Question Id : 206205943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U ATTESH T ITUfHE I &1 27

Options:

| x TI33 FHIA FLA
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Question Number : 40 Question Id : 206205944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The binary number system has a base of:
Options:

1.V 2



EE 16

Question Number : 40 Question Id : 206205944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

eRadm gEar gumelr (ssAd A9 fAwed) # FT &7 T g
Options:

1 ¢ 2

> % 4
3&38

Question Number : 41 Question Id : 206205945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which process condenses files in order to take up less space and therefore, can be sent faster over the internet?

Options:
1 ® Data condensation

-  Data compression
5 » DataEncryption

4 » Defragmentation

Question Number : 41 Question Id : 206205945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A T ¥ B 77 ¥ v o s 7 52y o I § A Taw v oEe # f2EE W
o=l T ST S TaT 87

Options:

- BT FEAUA



T R HWE{
4 ® EIlTE P

Question Number : 42 Question Id : 206205946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an MS Excel chart, text or values displayed at data points to indicate the specific value or category are called:

Options:
1 « data labels.

> % data points.

= % data series.

4 # data names.

Question Number : 42 Question Id : 206205946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR T A A m m At S e s s Pr o it weim s w dem w
FeT e g

Options:
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Question Number : 43 Question Id : 206205947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The main folder on a storage device is called:

Options:
; w Dplatform.

> % interface.

5  loot directory.



, » home page.

Question Number : 43 Question Id : 206205947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T TR 298y W A7 Wiest H FI7 Fga 27
Options:

1.&6&0‘?:5“&
3 v T STEFEN

4 ® @ﬁﬁa‘

Question Number : 44 Question Id : 206205948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The process of checking for errors in a program, and then correcting them., is known as:
Options:

; = decoding.

- w etror —proofing a program.
5  debugging.

4 % de-erroring.

Question Number : 44 Question Id : 206205948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fodr srame & gfeat i s w3 O 39 9 3 @eifad s i 9fesar # Far
1T 2

Options:

, w fEepifEer

T-T FrEmA & gt

> ®
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Question Number : 45 Question Id : 206205949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To print a document, press . and then press Enter.
Options:

1 % Shift+P

> o Cirl+P

=z ® Alt+P

4 % Esct+P

Question Number : 45 Question Id : 206205949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fordr siagae & e & & foT, 98 ZaTe, 3T T Enter a0

Options:

| % Shift + P
, ¢ Ctrl + P
2 % Alt + P

4 % Esc + P

Question Number : 46 Question Id : 206205950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Data at the receiver end is g0 that it is readable to the user.

Options:
1 decrypted

- % encrypted

= % modified

4 % masked

Question Number : 46 Question Id : 206205950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
=T & o 9T 20 2T g, a1fer Ig 39TeTRaT ZERT 98T AT He

Options:

, e o gam
v 4

1.

E mﬁmgm
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o ®
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Question Number : 47 Question Id : 206205951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A default gateway address is assigned to a in a network.

Options:
1 #% hub

> ® switch
5 « router

4 w bridge

Question Number : 47 Question Id : 206205951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T FAeas H Bwiee ea vag = F forT srasa G S

Options:

1 ® EE
R ﬁEﬁf
z v T3

4 % BT

Question Number : 48 Question Id : 206205952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The red colour band in action centre shows in Windows.



Options:
, « Critical problems

> % major problems

- % minor problems

4 % startup problems

Question Number : 48 Question Id : 206205952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
s & TRE HX H 9 T F &5 F AT Bl

Options:

| TECTIOT WA
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. w TR WHEEAH

4 % GRS WHEEITAT

Question Number : 49 Question Id : 206205953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which command utility in Windows XP is used to manage data encryption?

Options:
1 # Conceal

> % EFS

5 % Encrypt

4 « Cipher

Question Number : 49 Question Id : 206205953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
s XP # #iq @ giefoe &5 3o viereud &1 F6fig & & o 393 1 S 82

Options:



Question Number : 50 Question Id : 206205954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
System request key on personal computer keyboards was introduced by:

Options:
, ® DLINK

> % ASUS
s % IBALL

4 « IBM

Question Number : 50 Question Id : 206205954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
L i fat by R *
qHeTe Heged Hrars W Aren Naawe Foi s ganr 9 # =15 o2

Options:

. # DLINK

, = ASUS
- % IBALL

. v IBM

Question Number : 51 Question Id : 206205955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you know the name or partial name of a file. you can use the box to locate the file.

Options:
1 % Find

» » Help



3 « Search

4 % Location

Question Number : 51 Question Id : 206205955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AT FESE F 99T T HIEE A FFT £, 77 AT e wEd F A AT F ITAET T
T £

Options:

2_53%@-
3.@"*"9?5[

4 % oATRere

Question Number : 52 Question Id : 206205956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel, when the “show office clipboard automatically™ option is enabled, which key combination followed by
Ctrl = C displays the clipboard?

Options:

1 ® Ctrl +Shift+ O

> % Ctrl+W
z # Alt+ Enter

4 Cll+C

Question Number : 52 Question Id : 206205956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THUE THENE H, F9 "3t Hiihg et dEahEr e osr e S« CFaE S W

-im'i Hdtera BTt Z9mar &7

Options:

, % Ctrl + Shift + O

o % Ctrl + W



=z % Alt + Enter

L Ctl + C

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 206205957 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

READING COMPREHEMSION

206205125
2

Online
Mandatory
1

1

5

Yes

No

1
206205125
Yes



Read the passage given below and answer the questions that
follow, by marking the most appropriate option out of the four
given after each question.

There was once a king who ruled over Persia, and he had a son.
The son fell in love with a shepherd’s daughter. So one day he went
to his father and said. “My Lord. I love a shepherd’s daughter. and
I would like to marry her.”

“When the king heard this, he was quite upset. He replied. “I am
the king of the Persians and you are my son. When I die. you will
be the king. How can you even think of marrying a shepherd’s
daughter?”

‘But the son said.” My Lord. I love this girl and would have her for
my queen.”’

‘The king realized that his son truly loved this girl and he said.
*Alright I'll send a message to her.” So he called a messenger and
said. “Go to the shepherd’s daughter and say that my son loves her
and would have her for his wife.” And the messenger went to the
girl and he said. “The king’s son loves you and would have you for

LLE]

his wife.
‘Hearing this the girl replied.” What work does the king’s son do?”

The messenger said. “Work! He is the son of the king - he does no
work.™

LR

‘And the girl replied calmly. “He must learn to do some work.

‘The messenger returned to the king and repeated the words spoken
by the shepherd‘s daughter.”

‘And the king said to his son. “The shepherd’s daughter wishes you
to learn some craft. Do you still want to marry her?”

“The son said. *“Yes. I will learn to weave straw rugs.

‘So the prince was taught to weave rugs of straw. in patterns and
in colours and with ornamental designs. and at the end of three days
he was making very fine straw rugs. Then the king sent the
messenger back to the shepherd’s daughter and the messenger
said.” These rugs of straw are the work of the King’s son.™

‘And the girl agreed to marry the prince. She went to the king’s
palace. and she became the wife of the king’s son.’



Sub questions

Question Number : 53 Question Id : 206205958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The shepherd’s daughter was:

Options:
|  Wise and practical.

> % lmpulsive.
z % ambitious.

4 = lknowledgeable.

Question Number : 54 Question Id : 206205959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Kking’s son learnt to weave straw rugs because:

Options:
, w hewanted to earn a living.

> % he wanted to please his father.

5  hewanted to please the girl he loved.

4 % he believed in the dignity of labour.

Question Number : 55 Question Id : 206205960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The rugs that the king’s son wove were:
Options:

1 + ornamental.

-~ % simple.

- # traditional.

4 % delicate.

Question Number : 56 Question Id : 206205961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The shepherd’s daughter married the king’s
son because:

Options:
1 # she was in love with him.

-  he had obliged her and learnt to weave straw rugs.
- % hewas the king’s son.

4 # he had fallen in love with her.

Question Number : 57 Question Id : 206205962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was the most leading trait of the king?

Options:
1 % Orthodox
- # Alrogant

= # Narrow-minded

4 « Flexible

Question Id : 206205957 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 206205958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TRETE BT ofT|

Options:
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- w H@ccaTehalr
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Question Number : 54 Question Id : 206205959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 206205960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 56 Question Id : 206205961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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oroT Foife:
Options:
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Question Number : 57 Question Id : 206205962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LY
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Options:
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CUANTITATIVE APTITUDE
Section Id : 206205126
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 206205126
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 206205963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the most appropriate option to identify the INCORRECT number in the series.

3 5 13 43 176 891 5333

Options:
1 ® 5

o B 13
T R 43

4 o 176

Question Number : 58 Question Id : 206205963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
[EGol H o TEAT & 9gaTd i & o0 98 3999 9FeT ==
s - -

3 b 13 43 176 891 5353
Options:

1 ® 5

L v 176

Question Number : 59 Question Id : 206205964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the most appropriate option to identify the missing number, represented by ?, in the series.

120 320 ? 2070 5195 13007.5
Options:
, % 800



> % 920
s % 850

4 & 820

Question Number : 59 Question Id : 206205964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
qed wEAm @ ? @ Al frar mar g1 R v Reedt A& @ g9w s9gEd Reew g5 S 2 A
gfarnfaa =T TF|

120 320 2 2070 5195 130072.5
Options:

, % 800
, % 920
- % 850

L v 820

Question Number : 60 Question Id : 206205965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the most appropriate option to identify the solution (approximate value), represented by 2, in the equation.

57% of 394 — 2.5% 0f 996 =7
Options:
1 % 21

Lh

[
e |
Ln

o B
= « 200

4 % 180

Question Number : 60 Question Id : 206205965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o= watetor & g ? @ g T B R v Reed # ¥ wew 3uged @wed 94 S ? &

AT e

394 &1 57% - 996 F 2.5% = 7

Options:



. % 215
. % 175
- 200

4 % 180

Question Number : 61 Question Id : 206205966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solve the equation.

(Note: You are not expected to calculate the exact value.)
5554.999 = 50.007 =7

Options:

1 « 110

5 % 150

2 % 200

e
®
LM
o

Question Number : 61 Question Id : 206205966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THEIOT F TT FL

AT (AT FEF AT H 0T T Fr HI9TFIT 787 1)
5554.999 + 50.007 = ?

Options:

L v 110
. % 150
5 = 200

Question Number : 62 Question Id : 206205967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Rajuish mixes two varieties of rice wgether 25 kg of one variety thal he bought at € 32 per kg and 15 kg of another
variety that he bought at ¥ 36 per kz. If he sells the mixture at T 40.20 per ke, what is his profit percentags?

Options:



| ® 25%
> % 40%
s % 30%

4 20%

Question Number : 62 Question Id : 206205967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T & g Rt & wraat @ wew # BT G, e @ ot e & 9w o we T 32 s
st wr 25 Trerms or T gl e ¥ O & apw T aeReEe di e 18 R wm ot =
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Options:

, % 25%

> % 40%
- % 30%

4 v 20%

Question Number : 63 Question Id : 206205968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio between three angles of a quadrilateral is 9 : 11 : 17 respectively. The value of the fourth angle of the
quadrilateral is 138°. What is the difference between the largest and the smallest angles of the quadrilateral?

Options:
| % 60°

5 % 66°
3 % 90°

4. & 84°

Question Number : 63 Question Id : 206205968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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> R 860
z R QDD

4 v 84°

GEMERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Pand:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

206205127
4

Online
Mandatory
6

6

6

Yes

No

1
206205127
Yes

Question Number : 64 Question Id : 206205969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third term in the same as way the second term is related to the first term.

Negroes : Africa :: Sherpas : ?
Options:

1 & Tibet

> % Pakistan

- % Russia

4 % Japan

Question Number : 64 Question Id : 206205969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



Question Number : 65 Question Id : 206205970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the term that is related to the third term in the same way as the second term is related to the first term.

Good : Bad :: Roof : ?
Options:
1 ® Window

> « Floor
= % Walls

4 = Pillars

Question Number : 65 Question Id : 206205970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

R tﬁ%ﬁ-
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Question Number : 66 Question Id : 206205971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Hiss : Hoot : Trumpet



Options:
, « They are sounds made by certain animals.

> % They are joyous cries of children.

- % They are sounds made by war — instruments.

4 # The terms are used in connection with under — world activities.

Question Number : 66 Question Id : 206205971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 FeT &7 999 F{ A Featei@g 39 9Eal FT Faicdd JuTH F4aT gl

Options:
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Question Number : 67 Question Id : 206205972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Vesuvius : Etna : Kilimanjaro
Options:
1 +« These are sites of volcanoes.

- % These are hills of Italy.

= % These are island countries.

4 % These lie in polar regions.

Question Number : 67 Question Id : 206205972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 206205973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

P ¢ Sl e T
Options:
i ® O
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Correct: 1 Wrong: 0
There are 30 members in a club who decide to play a badminton singles tournament. When one plaver loses, he crashes
oul of the tunarment. What 15 the mimtmnm mnnber of matches that must be played to determine the winner?

Options:
1 ® 15

o 29
=z B 61

4 ® 13
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Correct: 1 Wrong: 0

What does the abbreviation GIS stand for?
Options:

1 % Global Institute for Soils

- u Geographical International Studies

-  Geographical Information System

4 # Global Information Statistics
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Dr. Ravuri Bharadwaja has been chosen for the Jnanpith Award. 2012 for his outstanding literary contribution in:
Options:

1 % Tamil

> o lelugu

- % Kannada

4 = Malayalam

Question Number : 71 Question Id : 206205976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



=1, Tl AT # F IF FEAES WIRlTE deeE F B 2012 § FeiE e F
fere =T T 1)

Options:

1_%3@?‘{
e T

> 33
z ® EFEEIE_

4 % HAATAH

Question Number : 72 Question Id : 206205977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who among the following is also known as Rawalpindi Express?
Options:

1 # Sachin Tendulkar

®

5

> « Shoaib Akhtar

Rahul Dravid

L
s

Imran Khan

o
®
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Who among the following was nicknamed *Sparrow’?

Options:



, % Napoleon

> « Maj. Gen. Rajinder Singh
- % Joginder Singh

4 % Milkha Singh
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Dihang-Dibang. Biosphere Reserve is located in which Indian State?

Options:
1 % Uttarakhand

> « Arunachal Pradesh
= % Odisha

4 % Assam
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Correct: 1 Wrong: 0
The term Green Revolution has been used to indicate the strategy of higher agricultural production through:

Options:
, w the creation of grasslands.
- % planting more trees.

- » the creation of gardens in urban areas.

4 « enhanced agricultural productivity per hectare.
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Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 206205982 Question Type: TYPING TEST Display Question Number : Yes

Donating blood to the needy is a noble act of saving lives. Most of us are ready to do so. But the doctor first
ensures the type of blood we carry, since our blood cornes in various physiological types or groups. The
general types are &, B, AE and O. Matching of the blood types of the donor and the recipient is vital, else it
could lead to serious life-threatening complications. Most of are not aware of a rare blood group hh, which
was discowvered in Bombay in 1952, and hence known as Bombay Blood. People who carry this rare blood type,
about 1in 10, 000 Indians, can accept blood only from another Bormnbay Elood type individual, and not from
anyone who is O, A, B or AB type. To understand the biology behind this exceptional blood type, let us first
lool: at what each blood group type contains. Elood contains red blood cells (and other cells that are not
relevant for us here, floating in a fluid called plasma. Red blood cells carry on their surface a set of markers
with which the plasma interacts. This compatibility or cross-talk betweern the cell and the plasma 15 what
makes each blood type special. The markers on the cell are determined by a master type called H, out of which
are generated types 4, B, AF and AC. When blood transfusion occurs, the compatibility between the donor
blood cell type and the plasma of the recipient becomes vital, else the blood may coagulate or clump up,
causing serious danger. Thus people with & type blood can accept blood from A type or O type and not from
AB or B type donors. And they can donate, in turn, to those with A or AE types. Those with E type can receive
from E or O types, and can donate to those with E or AE types. Those with AE type blood can receive from any
one and donate to other AE. Finally those with O type blood can receive only from ©, but can donate their
blood to &, B, O or AB- universal donors. In contrast, the Bombay doctors found that the hh type (Bombay
type people) can accept only from other hh type. This makes the Bombay Blood types a very special and rare
category of people. People are 50 rare with this blood group because of extensive inbreeding within the same
lineage or close-corrumunity marriages, often consanguineous, such that the blood type or the gene pool is
greatly restricted. Such intra-cormmunity marriages have happened in srmall 1solated cormrrmnities such as the
gvpsies, Hussian Jewnsh or Parst corrrranities. It 1s thus likely that the Bornbay Blood types have cormrmon
ancestral origins.
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